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(& 3k #R) Toxoplasma gondii % — s NF LB S > LG hiafa R A HAH - 4
EHERP  BHBREEE  REREEEHH - (2.5%9)
(% JkRE) Fasciola hepatica /5.5 ~T ¥ £ £ 4+ $ 5B 94 - A% % B 4 &4 metacercaria i
Rey Rk E MY REAKTESE (25 45)
(& JEAR) nyptosporidiurfz parvum can only infect calves and humans and usually causes mild
clinical signs in immunocompromised hosts. (2.5 4~)
(& 3k #8) Trypanosoma brucei is the etiology for the Chagas’ disease. (2.5 4+)
(& FERR) Schistosoma japonicum can infect human by penetrating skin while contacting the
contaminated water. (2.5 4~)
(B #) The life history of Clonorchis sinensis includes five different stages. (a) radia (b)
metacercaria (¢ ) miracidium (d) cercaria (e) cysticercus (f) sporocyst. Please pick 5 correct
stages from above and list them in correct developing sequence: (A) abfde, (B) eadcb, (C) feabd,
(D) cfadb. (2.5 %)
(:Z4FA) What’s correct for Taenia solium? (A) can infect human, (B) its cysticercus encysts in
the muscles of cattle, (C) its cysticercus has an unarmed scolex, (D) all above. (2.5 4-)

(E4FA) HHNMH ZRENTHRAE S ATHEE?(A) % B) BBEFEAR LB (O
Wb # (D) A EMER - (2.5%)
(GEFEM) UATHEZL K455 6455 R ? (A) Toxoplasma, (B) Schistosoma, (C) Dirofilaria, (D)
Trichinella. (2.5 %) k
(GEFA) HHMPREEMTH EE?(A) RASEMAFKTREMRSE B) TREAZHL
FIHARSHREYTREERE C) RERERH (D) U EHEHE-(25%)
(R 9FA8) Bartonella henselae 3 % et i 3Py » M HELBEMBE » FTE B BE MY
FEIA-(25%)
(£ 3FRR) Yersinia pestis can infect a variety of mammals and rats serve as reservoirs. (2.5 4~)
(RIFRD) RERRAE AT EER  ThHHERAA > AN ThAMLRLA » Al
NET200l FAELBAEGELE—BEARERERGES - (259)
(& 3 A8) Cryptococcus neoforinans =T 3 22t X MASBLAS % » SMAB L S E R M5 2R -

(2.5 %)
(R IEHR) Shigellosis 7382 O S ey LB E R RARBEHAARBE - HAEERBEHY
MEHMREBINRRECR  REBRATEES - (2.5%)
(Z#FAR) What’s correct for Borrelia burgdorferi? (A) is transmitted by bites of small ticks, (B)
pathogen of lyme disease, (C) no Human-to-Human transmission, (D) all above. (2.5 )
(EHE ) Coxiella burnetii =T 3] A2 \AF 4748 % % ? (A) Q fever, (B) Lyme disease, (C) Plague, (D)
Anthrax. (2.5 4)
(3Z4F4) What’s correct for Listeria monocytogenes? (A) cause meningitis, (B) cause abortion, (C)
zoonotic pathogen, (D) all above. (2.5 %)
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19. (¥E4F88) What’s correct for Johne’s disease? (A) only infects cattle, (B) lung is the main target
organ, (C) pathogen is shed in feces, (D) all above. (2.5 %)
20. (FBIEF) 4t# Leptospira interrogans {5 # EFE? (AVE TR £ KRB A - B)R L4 ¥l
REFBETRG ARTERS  OXEHARTHELERELDHHEL  DE 10 £R 4
A bR RERERSF (2.5 %)
21, BRGHAERATHR TR ERYS LHFRTHY R F G IR TLTRAFE LAY
RO H L ELRBEARRLS S R A ZRERN? (G0 H)
22. MUARKFEELG > BEATZRNABERBEZLFAEFYLE?20H)
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